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Questions

Traditional Chinese Medicine is based on the principles of which religion?

What do letters CT stand for?

What is the meaning of the term 'Myopia'?

Which chamber of the heart of the pumps blood to the systemic circulation?

Among the following food items, which one has the highest amount of carbohydrates?

What is 'Stealth Technology'?

A Fahrenheit thermometer indicates a temperature of -40° F. lts corresponding reading on
the Celsius scale will be

Most of the ozone in the atmosphere is concentrated in the?

As we climb up the mountain, the atmospheric pressure will:

A steroid is considered a:

Answers Choice

A. Buddhism <br>

B. Confucianism <br>
. Islam <br>

. Taoism <br>

. Computer tomes <br>

. Computerised tomography<br>
. Cranial test<br>

. Cribiform time <br>

. Photo-sensitive <br>
. Long-sighted <br>

. Short-sighted <br>

. tunnel-vision <br>

. Left Atrium <br>

. Right Atrium <br>

. Left ventricle <br>
. Right Ventricle<br>
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. Apple <br>

B. Banana <br>
C. Cabbage<br>
D. Pea <br>

A. A device which when attached to
an aircraft makes it invisible on the
radar<br>

B. A coating which reduces the
visibility of an aircraft on a radar<br>
C. A technology by which it is
possible for the aircraft to spy in the
enemy air <br>

D. A technology be us9ng which
paratroopers can be dropped
stealthily behind the enemy columns
<br>

A. -20°C<br>

. -40°C<br>
. +10°C<br>
. +40°C<br>

Mesosphere <br>
troposphere <br>
. Stratosphere <br>

. lonosphere <br>

. Increase <br>
. Remain the same <br>
. None of theses<br>

. lipid <br>
. Protein <br>
. Enzyme <br>

B
C
D
A
B
C
D
A. Decrease <br>
B
C
D
A
B
C
D. Weak acid <br>



